blocking bars. The central red line is representing the center of HAND. Two rays from the target to the

Visualization of blocking bar algorithm. Green bar is the bar that we check and red bars are the
green bars represents the opening angle of this bar.

written by Igor Korover

Blocking Bars

[el=[a]o[s]w|el~[elela]s] [efrTalo]swle[rolao]2[F]
[el=[a]o[s]w|el~[elela]s] [ef-TaTo]sfwloe[rTolo]2[F]
[el=[a]Jeos]w]|e[~[e]a S]] [ef=TaTo]swle]rlele]2[T]
ET=T=T=T=T=T=]~] [Elel=l=le == =]&]5] El=Tsl= == T=]x] [FT=T=l=Te[=T=T=2]&T&]
[el=T=T=]=TeTe]~T=[=]=T=] [=le[=[=T=]z]=]a]=] El-TsTel=TeTeT~T=T=T=T=] [eTe[=TeTe]=TsT=]=]
IIIJI [=T=T=T=]al=]=]=T=]=]x]z] CLT T T T T T2 =T o] 1..-
[e[clalo[s[w o[r[o]lao[2[F] [el=TJalofslw]e[rlo]o2F]
[e]l = alol<t]w o] ~[w]o2F] (I S I I B = S N = =
[e]~aleolstwoe]r[wo]o 2] (I I N IO 0 B S N N = =
[el-TaTm[<TeT=]] [ele[=[e[e[=[=]=]&x] [eT=Tele=TeT=T"] HEHHEEBBRBEEE
EE== === === BEEEBEEEE [eT-TeT=l=TeTel~T=T=T=T=] [eTeT=T=Tel=T=T&]=]
1.'. [= =] =]« [=]=]=]=]]x]z] =TT T=T=T=l==] [FI=[a[=[s][a[=]x]x]s]z]




= mmmm.wmmm










